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The area of a polar region is basea on the area of a sector of a cn'cle
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| Area of Sector = 2—-
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If we take a function r=f(6) on [a,ﬂ] Sectov = 0?/‘1"11(
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and partition it into equal subintervals, then ot
' tadius of kth sector = £(6,)

(ruf(61))

' central angle of kth sector = f-a =A@
n
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Taking the limit as 7 — «,
e
Area = PEEZ[ f(e)]zaa = .;_ j :’ [ f(e?)]zdé’
k=1 -

If f is continuous and nonnegative on the interval [, £], then the area of the
“region bounded by the graph of r = f(6), then the area of the region bounded
by the graph of r= f(6) and the radial lines ¢=ca and &= is given by
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